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Car with EDR struck by
another vehicle

INCREASE the magnitude of
the EDR-reported delta-V.
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External Force Applied to the Vehicle without the EDR
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Example: Car with EDR hits a truck

Note: V1 is the car with the EDR
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General Delta-V Equation
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+ A 2200-pound car equipped with an EDR skids into the back of a parked 35,000-pound truck.
L ow 1.466w,

The EDR reports a delta-V for the car of -30 MPH. Examination of the EDR data shows the
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dding or subtracting the TaeEA! o crash pulse lasted 0.15 seconds. The friction coefficient for the car is .80 and for the truck .60.
By Rk orsublracting the 1.466w, term of the There is 20,000 pounds on the truck axles with parking brakes. The parking brake on the truck
General Delta-V Equation. is set.
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